Year 11 -  Probability 

1)  During a basketball game there is a 26% chance of a ball going in the basket.  The score keeper, Vern, is visually impaired and he sometimes makes errors in the points given. 

a) Complete the probability tree showing all the probabilities that are missing
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  =  0.2288                                                        













b) What is the probability of points being given?

P(Points given) =______________________________________=_______

            

c) Out of 48 times the ball goes in the basket, what is the expected number of times points will be given by Vern? 

3)     The points tally for Bob’s team for the season is given in the table below.
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3 pt baskets

Bob

12

6

Barry

16

10

Burt

10

3

Bernie

12

1

TOTALS

50

20


d)  Of the 2pt baskets scored, what is the probability that it was scored by Bob? 

e) Given that Bob scored a basket, what is the probability that it was a 3pt basket?

            A new player, Betty, trials for the team.  The probability she gets a free throw is 
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What is the probability that she does NOT get the next 3 free throws?

            Belinda joins the team.  Of the 6 players now in the team, 4 are male.

If the team captain and vice captain are now chosen, what is the probability that both are female?  (working and answer)

f) From the 6 players in the team (4 are male) the team captain has been chosen and is female.  Now what is the probability that a male vice captain is chosen?  

            Betty keeps track of her free throw attempts during a training session.  Complete the relative frequency table below.  

	Throw
	Free throw scored
	Cumulative score (frequency)
	Relative frequency 

(fraction)
	Relative frequency (decimal)

	1
	Yes
	1
	
	

	2
	No
	1
	
	

	3
	Yes
	2
	
	

	4
	Y
	3
	
	

	5
	Y
	
	
	

	6
	N
	
	
	

	7
	Y
	
	
	

	8
	N
	
	
	

	9
	N
	
	
	

	10
	N
	
	
	


Basket 





No points





0.74





0.88





No points





Points 





P(Basket & points given) 





P(Basket & No points given) 





          = 





P(No basket & points given) 


          = 0.407





P(No basket & No points given)


         = 0.333





What is the probability that a basket scored this season was a 3pt basket? 








What is the probability that a basket was scored by Barry?   














Given that the probability she gets a free throw is � EMBED Equation.3  ���  how does this training session compare to





normal?

















_________________











0.26  





Points 





No Basket 
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